{
1 '\ Y
af { = - Xca el
X Y=9%% Y=-3% et
(
Yz ax<lzo — Xz A
— — + t
| ‘ Y
.»:w-fe, Xz 72




~
XQLJ

X<=2, ‘s<x< R ;

U dfer x<~ 27 X> 243
-2 4 Py
TR X< 5

X=06: Y= 4
0

5

ety %

> €
TN
X
A

— (x3)*-g(x¥+lz0 Y
L) ()= =

X = ;2/ Xz~




/O,) \(2'. C:va'ZXvX“L OM_ MXVNM

( - /
Y= ~2-—2aX = —a(t+X)=0c — X=~/
o —
—+ 4 \((
atd— . {X:~1
s N =7
M_ _ — — —
\(/‘O\L M x>"lj' v

Yo N fo AR X prodonay

Xzo: Yz6

Nzo: X*+2X-6z 0 /\
s . _‘,ﬁ "(+\F7-
-2t 4= (-2¥)

—~ X
X = = /’ ‘\

17) Y= Xqvaxlj DW;MX*W
'z dx3 —4x = 4X<X-I)C?<-z-/]:o —
x:cj x:(/ Xz —{

/

— ? - o - o -+ [
+ t t 7’
XS~/ XTa =
N< - I=9 Y=
NN MQ NN e’
W. M- - a/(fq AP,
ANeX




. * © — © + (
x;';!_ ,: 1 N
o V3 e Ll
- Ne— % Y = 35} } wE
] G

\(A<)7\/§°4—l<x<o ;>(>{
\{M\L/&w ><<-( o<7<<l
N U fo X< "/(‘ ><>/r

Y.io N ! 1
"<?(< —_—
= % s J
Xzo: Y=
Y=6: X%~ aXx? = ¢ -1 = | L
2 N N 7 |3 14
- x*(x* a)=o0 AR R A F o
™ Xzo, X=X gl *\ -_s.\,/l
, q )
. _T_(

{
Y= §xt—Rox7'c 5xF (x-) = o g
-+ © — S+ <!
ned. € X=o X=«f e
P =6 Yz ~256¢ P




4
x:o: = 0 ]
Y=o : X5_5'x‘f:o 54’
- X4(x-5)=0
™ Xzo X=5
23) Y= X+ 2l csXxram
T ldedx=o - waxz -1 — x=7
l/ ' ol
o > 2+ Ko ,r
o X=0 Xz Sl .
— Y=o e |
'
N 2 -8AX=Z0 — K=o, ™, am
] — v : °
//! y + -V//// &
X=0 %{Xtﬂ' "' x=am
0. N= T

A X
Tao T fon 0< CTTex<am,

N A9 O g ﬂ“(X(;ZTPJ
YM/\% o< X< T




v'= ‘éxhq/é& ‘:: Tq + A;{b + 7 J!
5 X s X-'—‘O} SV
- NZo Jtom.
\(“" 4 x /6/- - -+ SRd— T
X:O} ,24%0.
1o T X<0, X >0 120 5 px.
Yaug © X< © Y
Y <0 /) %;/7 X >0 V
Xzo0 ' Yz o o
Y=0 . X=6
20) Yex 7S .
Y= X DWML . all X—,o-alu—‘lq
! a 3/)/ 2 — No g
Y = — X © = -—...5_._ -~ | + \/I
5x75 Wé’X% k.
Y=o A——
\/“"' ':_@..;{/6/_ — 6 — Ne o
S T e ' !
925)(/6' X=0 !
Yo b fon X>o, YT
YM 12 /éc/\ X(o)
Y0/l A7 x<0 x>0
X=6: Y=o

NY=0 : X=0O ' > X




¥

.23)\(: AX~ 3 X Dormeor : e X~ oty

. sz 2yl o 2 . X7
TE AT = 2- 57 2 A5 ) = e
— X -z 06 —» X=]
NO
-+ \ - o A {
{ ‘ Y
do"man X'-'-'O‘S,M—Q- Xz rad,
Y= 0 ) mex, Y= -1 } A,
-4 No
] - !
Y:‘.Z--:‘;;X 7. %{/3 = o + i+ ‘f”
3X X=o
J e xeo o "
0 4 o< X<l
Ya-a(),ﬂ‘/' X<, X>6 ;
Xzo: Y=o /
Y=o 20(-—3?(%‘-'0 [
c — ; —
- X% (ax%-3)z o \—;‘/:zv/? %
™ XTeo X 3= 3 ~hr
— x = 4%
X< g t
. 2- . .
‘H) Yz x-3 Vowmoinn : oM x4 &
X~-2 J
vl (x-2) - (x23)(1) X 9x—x3+3
(x-2) % B (x—2)*
x2-dx+3  (x-3)(x=/)
(x-3)2 (x-2) >
+ o — Ve - o -+ (
+ t : Y
sl {X:{ Xz 2 X:;;} el .
AroX N= 2 | \!:'(0 M.




(_ (x=2)2 (ax- <) - (x’:qx% 3) a(x-1)
N = (e L |
- AR) [KTaxv i3] | o

X=-2
(x-2)% =




5-;))\( KGQ““’() Dowmeoailn « X>0
»(a/wx)-g ‘ (Smx)* = }MKC&JJMXL o

//:( -+ o —_ O -+ \(]
Xzo X=e R Xz | 73 ab .
J'uzQ.M, (Y‘; 46_2 -
{
Y“‘—' 2 ;‘(——4— Q\ﬂ,nx._;{ - ;z-;(-o-l—ﬂ*?():,
-~ —
_//: : + ¢!
X=6 x=e™! }/‘“"’I{’Q .
N= e !
— Y
Yw'r‘/ﬂ—oﬂ °<?<< Q’“ ><>‘) m

X =0 CNO() I/e_-/\
Nzo: X= .
'/ez ‘/Q__ l
7(
53) Yz (4_€K D ovwrosim all x-— ,u—q.«(LM-L(/
X
. (ref)eX — e eX e -
= (14 eX)> (+eX)*
4 -+ + Yl







